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5) Evaluate: NO CALCULATOR

Warm Up - Solve #1-4 with a calculator

1) In (2x—3):1““ 2) 12=10"" -7
1=22x%-3 24 |]a=lo¥** .
‘ 2 109,514 >%+5 X=3M2
X _ 4) Youi t $24,900 i
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Mar 16-10:49 AM

CHECK HW 8.6 Part 1 p. 472
1. In 125 2. In 18 3. In4
4. In 40,960 5. In - 6. In1l
7. In j 8. In \/ZT 9. In*© .\"
n Z O
15. 0.14 17. 1489 19. +/- 11.59
31. 32. 2 33.
34. 10 35. 0 36. %
55. x=542.31 56. x=1 58. x=81.29

Mar 14-12:06 PM
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Word Problems
involving

Logs

Mar 12-10:43 AM

The population of
Boringville is 800 dull folks.
The number of residents is

3 years decreasing at a rate of 32%
N per year. How many years
s B P1E0) will it take before the
A*250 =32 number of inhabitants is
P00 -7 250 people?

What variable in the equation
are you trying to find?

¢
250= 800(1-32)

250 = 300(-3f
800 RO6d

O.3ns = at
IOS bi.‘ﬂ?s = {

1 = 2qears

Feb 10-9:43 AM
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An initial investment of $200 is worth
$315.24 when the interest rate is 6.7% per

year, and not withdrawing any money. How
long has the money been invested?

A=3W r= on
p = 200 kz ?
x
315.24 =200(! *'°":)

Move picture for answer.

/. years

Mar 16-11:02 AM

If $3000 is invested at 6% compounded
, then how long will is take for
the infverstment to grow to $10,000? Round
to the nearest whole number.

2 A=pPert A=iouoo f=.0L

?: 3000 = ?
@) [obpo= 300
D s
3% = C..M.t Pull for answer:  2() years
okt = |n 33

t= & 20\ s

Mar 16-10:52 AM
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GO COUGARS!

HOMEWORK 8.6 - Part 2
WB pg. 79 # 5, 7 and pg. 80-81 all

1. Tnan over-fished are, the cotch of a certan fish s decreasing cf an avercge:
rate of 3% per yeor, If his decline persists, how long il toke for the coch fo
veach ol the enount before the decine? HINT: usey= 4 enda=1

2. Alex nvests $2000 inan account that has a 6% annual rate of growth. When
will the investment be worth $36002

3. How many doyswil t fake o clfureof bacteri f icrease from 2000 1o
50,000 i the growth rae is 93.2% per doy?

4
ground position. Abelssurveying firm bought o 6PS system for $12,500. The 625
depreciated by  fixed rateof &% per year and is now worth $8600. How lng ago
did Abel buy the GPS syster

5, it Iture of 20102000if
the grouth rate per hour is 50%>

6. A piece of machinery valued a $250,000 depreciates ot a fixed rate of 121
per year. After how many years will the value have depreciated 1o $100.0002

© Shari Bruyn December 19, 2015

7. The newest mode of a cerfain brand of car cost $25,000, How many years

8. A computer system depreciates af on everage rote of 4% per month. If the
value of the computer system was criginally $12,000, in how many months s it
worth $73502

5. n cight inch plan wos planted n the spring. Semetime ate, it had grown to

18 inches. Lf the growth rate 1 10%, how mony weeks hos the plant been i the
gromds

Confucus soys, He whosits ona ack

g B € € n T 5
51 ns | 60 | o5 72 | 13 | es
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